## Semigroup-Valued Solutions of the Gołąb-Schinzel Type Functional Equation

## By J. CHUDZIAK

Abstract. Let  $(S, \circ)$  be a semigroup. We determine all solutions of the functional equation

 $f(x + g(x)y) = f(x) \circ f(y)$ under the assumption that  $g : \mathbb{R} \to \mathbb{R}$  is continuous and  $f : \mathbb{R} \to S$ .

Let  $(S, \circ)$  be a semigroup. The functional equation

$$f(x + g(x)y) = f(x) \circ f(y) \quad \text{for } x, y \in \mathbb{R},$$
(1)

where  $g : \mathbb{R} \to \mathbb{R}$  and  $f : \mathbb{R} \to S$  are unknown functions is a generalization of the equations of the form

$$f(x + f(x)^{k}y) = tf(x)f(y),$$
 (2)

where t is a non-zero real number and k is a positive integer. Equations of that type are known in a literature as the Gołąb-Schinzel type functional equations and have been intensively studied in the last half-century. Solutions of (2) under various regularity assumptions (continuity, continuity at a point, measurability) have been considered e.g. in [5], [8], [9], [11], [12], [18] and [23]. It is worthy to mention that the equations of the form (2) play an important role in the determination of substructures of various algebraical structures (see e.g. [2], [9] and [10]). There are also the close connections between (2) (in the case t = k = 1) and a problem of classification of near-rings (cf. [4]) and quasialgebras (cf. [22]). For more informations concerning (2), its generalizations and applications we refer to [1], [3], [6], [7], [9], [13]–[17], [19]–[22] and [24]–[26].

In the present paper we determine all solutions (f, g) of (1) under the assumption that g is continuous. As a consequence we obtain a generalization of some results concerning continuous solutions of (2).

In the sequel we introduce the following notation. For a given set  $\emptyset \neq A \subset S$ ,

$$Z_L(A) := \{ s \in S \mid s \circ a = s \quad \text{for} \quad a \in A \}$$

and

$$Z(A) := \{ s \in S \mid s \circ a = a \circ s = s \quad \text{for} \quad a \in A \}.$$

2000 Mathematics Subject Classification. 39B22.

Key words and phrases. Golab-Schinzel equation, semigroup-valued solution, homomorphism.

<sup>©</sup> Mathematisches Seminar der Universität Hamburg, 2006

Moreover, by E(S) we denote a set of all idempotents of the semigroup S, i.e.  $E(S) := \{s \in S \mid s \circ s = s\}.$ 

We begin with the following

*Remark 1.* Let  $(S, \circ)$  be a semigroup. The equation (1) has a solution if and only if  $E(S) \neq \emptyset$ . In fact, if (f, g) is a solution of (1), then  $f(0) = f(0) \circ f(0)$ , so  $f(0) \in E(S)$ . Conversely, if  $s \in E(S)$ , then a pair (f, g), where g is an arbitrary function and  $f \equiv s$ , is a solution of (1).

For a proof of the main result we need two lemmas.

**Lemma 1.** Assume that  $(S, \circ)$  is a semigroup,  $g : \mathbb{R} \to \mathbb{R}$  and  $f : \mathbb{R} \to S$  are non-constant functions and g is continuous. If (f, g) is a solution of (1), then  $\emptyset \neq g^{-1}(\{0\}) = f^{-1}(Z_L(f(\mathbb{R}))).$ 

*Proof.* Assume that (f, g) is a solution of (1). If  $x \in g^{-1}(\{0\})$ , then by (1),  $f(x) = f(x) \circ f(y)$  for  $y \in \mathbb{R}$ , whence  $x \in f^{-1}(Z_L(f(\mathbb{R})))$ . Conversely, if  $x \in f^{-1}(Z_L(f(\mathbb{R})))$ , then in view of (1), f(x + g(x)y) = f(x) for  $y \in \mathbb{R}$ . Thus  $x \in g^{-1}(\{0\})$ , because otherwise f would be constant. Therefore  $g^{-1}(\{0\}) = f^{-1}(Z_L(f(\mathbb{R})))$ . It remains to show that  $g^{-1}(\{0\}) \neq \emptyset$ . For the proof by contradiction suppose that  $g^{-1}(\{0\}) = \emptyset$ . Then, by (1), we have

$$f(0) = f(x) \circ f\left(-\frac{x}{g(x)}\right) \quad \text{for } x \in \mathbb{R}.$$
(3)

Let  $A := f^{-1}({f(0)})$  and  $B := g^{-1}({1})$ . Note that

$$A \cup B = \mathbb{R}.\tag{4}$$

In fact, if  $t \in \mathbb{R} \setminus B$ , then taking  $x_t := \frac{t}{1-g(t)}$ , on account of (1) and (3), we obtain

$$f(t) = f(t) \circ f(0) = f(t) \circ f(x_t) \circ f\left(-\frac{x_t}{g(x_t)}\right)$$
$$= f(t + g(t)x_t) \circ f\left(-\frac{x_t}{g(x_t)}\right) = f(x_t) \circ f\left(-\frac{x_t}{g(x_t)}\right) = f(0),$$

whence  $t \in A$ . Next, by (1), for every  $a \in A$  and  $b \in B$ , we have

$$f(b+a) = f(b+g(b)a) = f(b) \circ f(a) = f(b) \circ f(0) = f(b).$$

Thus

 $f(b+a) = f(b) \quad \text{for } a \in A, b \in B.$ (5)

Since f is non-constant and (4) holds, there exists  $b \in B \setminus A$ . We prove by induction that for every  $n \in \mathbb{N}$ 

$$(b+nA)\cap A=\emptyset.$$
(6)

If  $b + a \in A$  for some  $a \in A$ , then by (5), we get f(0) = f(b + a) = f(b). Thus  $b \in A$ , which gives a contradiction. Therefore  $(b + A) \cap A = \emptyset$ . Assume that (6) holds for some  $n \in \mathbb{N}$ . Then  $f(b + na) \neq f(0)$  for  $a \in A$  and, by (4),  $b + nA \subset B$ . Thus using (5), we obtain

$$f(b + (n + 1)a) = f((b + na) + a) = f(b + na) \neq f(0)$$
 for  $a \in A$ .

Hence  $(b + (n + 1)A) \cap A = \emptyset$ , so we have proved (6). Now, if  $0 \in \text{int } A$ , then in view of (6), we have  $A = A \cap \mathbb{R} = A \cap \bigcup_{n=1}^{\infty} (b + nA) = \emptyset$ . Thus, by (4),  $B = \mathbb{R}$ , whence  $g \equiv 1$ . This yields a contradiction. Therefore there exists a sequence  $(\alpha_n : n \in \mathbb{N})$  of elements of  $\mathbb{R} \setminus A \subset B$  converging to 0. Since  $\mathbb{R} \setminus B$  is a non-empty open set, then by (4), for every  $a \in \mathbb{R} \setminus B$  and sufficiently large  $n \in \mathbb{N}$ , we have  $\alpha_n + a \in \mathbb{R} \setminus B \subset A$ . Thus, in virtue of (5), for sufficiently large  $n \in \mathbb{N}$ ,  $f(0) = f(\alpha_n + a) = f(\alpha_n)$ , whence  $\alpha_n \in A$ . This gives is a contradiction, so the proof is completed.

**Lemma 2.** Assume that  $(S, \circ)$  is a semigroup,  $g : \mathbb{R} \to \mathbb{R}$  and  $f : \mathbb{R} \to S$  are non-constant functions and g is continuous. If (f, g) is a solution of (1), then there exists  $c \in \mathbb{R} \setminus \{0\}$  such that

$$g(x) = cx + 1 \quad \text{for } x \in \mathbb{R} \tag{7}$$

or

$$g(x) = \max\{cx+1, 0\} \quad \text{for } x \in \mathbb{R}.$$
(8)

*Proof.* Assume that (f, g) is a solution of (1). Let for every  $x \in \mathbb{R}$ , a function  $g_x : \mathbb{R} \to \mathbb{R}$  be given by  $g_x(y) = x + g(x)y$  for  $y \in \mathbb{R}$ . At first we show that a set  $G := g^{-1}(\{0\})$  is strongly invariant with respect to a family of functions  $\{g_x \mid x \in \mathbb{R} \setminus G\}$ , i.e. that for every  $x \in \mathbb{R} \setminus G$ 

$$g_x(y) \in G$$
 if and only if  $y \in G$ . (9)

Let  $x \in \mathbb{R} \setminus G$ . If  $y \in G$ , then according to Lemma 1,  $f(y) \in Z_L(f(\mathbb{R}))$ . Thus, by (1), we get

$$f(g_x(y)) \circ f(z) = f(x + g(x)y) \circ f(z) = f(x) \circ f(y) \circ f(z)$$
$$= f(x) \circ f(y) = f(x + g(x)y) = f(g_x(y)) \quad \text{for } z \in \mathbb{R}.$$

Hence  $f(g_x(y)) \in Z_L(f(\mathbb{R}))$ , so in view of Lemma 1,  $g_x(y) \in G$ .

Now, suppose that  $g_x(y) \in G$  for some  $y \notin G$ . Then, applying Lemma 1 and using (1), we obtain

$$Z_L(f(\mathbb{R})) \ni f(g_x(y)) = f(g_x(y)) \circ f\left(-\frac{y}{g(y)}\right) = f(x + g(x)y) \circ f\left(-\frac{y}{g(y)}\right)$$
$$= f(x) \circ f(y) \circ f\left(-\frac{y}{g(y)}\right) = f(x) \circ f(0) = f(x).$$

Thus  $x \in f^{-1}(Z_L(f(\mathbb{R})))$ , so according to Lemma 1,  $x \in G$ . This is a contradiction. Therefore we have proved (9).

Now, let  $G^- := (-\infty, 0] \cap G$  and  $G^+ := [0, \infty) \cap G$ . In view of Lemma 1, at least one of the sets  $G^-$  and  $G^+$  is non-empty. Suppose that both of them are non-empty. As they are closed, there exist  $z_1 := \max G^-$  and  $z_2 := \min G^+$ . Obviously  $z_1 < 0 < z_2$  and

$$(z_1, z_2) \cap G = \emptyset. \tag{10}$$

Since g is continuous and  $g(z_2) = 0$ , there is an  $x \in (0, z_2)$  such that  $g(x) \in \left(\frac{z_1}{z_2}, 1\right)$ . If  $g(x) \in \left(\frac{z_1}{z_2}, 0\right)$ , then  $z_1 < x + z_1 < x + g(x)z_2 < x < z_2$ , so  $g_x(z_2) \in (z_1, z_2)$ . On the other hand, by (9),  $g_x(z_2) \in G$ . This contradicts (10). If  $g(x) \in (0, 1)$ , then  $z_1 < x + z_1 < x + g(x)z_1 < x$ , whence  $g_x(z_1) \in (z_1, x) \subset (z_1, z_2)$ , which again contradicts (10). Consequently, exactly one of the sets  $G^-$  and  $G^+$  is non-empty. Since the proof in both cases is analogous, assume that  $G^- \neq \emptyset$  and  $G^+ = \emptyset$ . Then

$$z := \max G < 0. \tag{11}$$

Fix an  $x \in (z, \infty)$ . By (11),  $g(x) \neq 0$ . If g(x) < 0, then taking into account (9) and (11), we obtain  $z < x < x + g(x)z = g_x(z) \le z$ , which brings a contradiction. Therefore g(x) > 0 and so  $g_x$  is strictly increasing. Moreover, in view of (9) and (11), we get that  $g_x(z) \le z$  and  $g_x^{-1}(z) \le z$ . Hence  $g_x(z) = z$ , which implies that  $g(x) = 1 - \frac{x}{z}$ . In this way we have proved that

$$g(x) = 1 - \frac{x}{z} \quad \text{for } x \in [z, \infty). \tag{12}$$

Now, suppose that  $g(x) \neq 0$  for some x < z. If g(x) > 0, then according to (9),  $G \ni g_x^{-1}(z) = \frac{z-x}{g(x)} > 0$ , which contradicts (11). Consequently g(x) < 0,  $g_x$  is strictly decreasing and, in virtue of (9) and (11), we obtain

$$(-\infty, g_x(z)) \cap G = g_x((z, \infty)) \cap G = \emptyset.$$

Thus  $g_x(z) \le z$  and  $G \subset [g_x(z), z]$ . As G is closed, this means that there exists  $z_0 := \min G$ . Since  $-z \in (z, \infty) \subset \mathbb{R} \setminus G$ , by (9) and (12), we get

$$G \ni g_{(-z)}(z_0) = -z + g(-z)z_0 = -z + \left(1 - \frac{-z}{z}\right)z_0 = -z + 2z_0.$$

Hence  $z_0 \le -z + 2z_0$ , so  $z \le z_0$ . Thus  $z_0 = z$  and  $G = \{z\}$ . Therefore, we have proved that either  $G = (-\infty, z]$  or  $G = \{z\}$ .

If the first possibility occurs, then using (12), we obtain that g has the form (8) with  $c := -\frac{1}{z} \neq 0$ . If the second one is valid, then according to (9), we get that

$$g_x(z) = z \quad \text{for } x \in \mathbb{R} \setminus G = \mathbb{R} \setminus \{z\}.$$

Hence

$$g(x) = 1 - \frac{x}{z}$$
 for  $x \in \mathbb{R} \setminus \{z\}$ 

Since g(z) = 0, this means that g has the form (7) with  $c := -\frac{1}{z} \neq 0$ . This completes the proof.

The next theorem is the main result of the paper.

**Theorem 1.** Assume that  $(S, \circ)$  is a semigroup,  $g : \mathbb{R} \to \mathbb{R}$  is continuous and  $f : \mathbb{R} \to S$ . Then (f, g) is a solution of (1) if and only if one of the following conditions holds:

- (i) there is  $s \in E(S)$  such that  $f \equiv s$ ;
- (ii)  $g \equiv 0$  and there is a subsemigroup  $S_0$  of S such that  $u \circ v = u$  for  $u, v \in S_0$ and  $f(\mathbb{R}) \subset S_0$ ;
- (iii)  $g \equiv 1$  and f is a homomorphism of an additive group of real numbers into S;

(iv) there exist a non-trivial homomorphism  $\phi$  of a multiplicative semigroup of real numbers into S and  $c \in \mathbb{R} \setminus \{0\}$  such that

$$g(x) = cx + 1 \quad for \ x \in \mathbb{R},$$
  
$$f(x) = \phi(cx + 1) \quad for \ x \in S;$$

(v) there exist a non-trivial homomorphism  $\psi$  of a multiplicative semigroup of non-negative real numbers into  $S, c \in \mathbb{R} \setminus \{0\}$  and  $l \in Z_L(\psi([0, \infty)))$  such that

$$g(x) = \max\{cx+1, 0\} \quad \text{for } x \in \mathbb{R},$$
$$f(x) = \begin{cases} \psi(cx+1) & \text{for } x \in D_c^+, \\ \psi(-(cx+1)) \circ l & \text{for } x \in D_c^-. \end{cases}$$

where  $D_c^+ := \{x \in \mathbb{R} \mid cx + 1 \ge 0\}$  and  $D_c^- := \mathbb{R} \setminus D_c^+$ .

*Proof.* Assume that (f, g) is a solution of (1). If f is constant, then taking into account Remark 1, we get (i). Now, assume that f is non-constant and g is constant. If  $g \equiv 0$ , then (ii) holds with  $S_0 := f(\mathbb{R})$ . In the case, where  $g \equiv 1$ , we get (iii). Suppose that  $g \equiv a \notin \{0, 1\}$ . Then, by (1)

$$f(x + ay) = f(x) \circ f(y)$$
 for  $x, y \in \mathbb{R}$ ,

whence

$$f(ay) = f(0) \circ f(y) \text{ for } y \in \mathbb{R}.$$

Thus

$$f(ax + ay) = f(ax) \circ f(y) = f(0) \circ f(x) \circ f(y) =$$
  
=  $f(0) \circ f(x + ay) = f(ax + a^2y) \text{ for } x, y \in \mathbb{R},$ 

so for every  $x, y \in \mathbb{R}$ , we have

$$f(x) = f\left(a\frac{ax - y}{a^2 - a} + a\frac{y - x}{a^2 - a}\right) = f\left(a\frac{ax - y}{a^2 - a} + a^2\frac{y - x}{a^2 - a}\right) = f(y).$$

Hence f is constant, which yields a contradiction.

Therefore it remains to consider the case where f and g are non-constant. Then according to Lemma 2, g is either of the form (7) or (8). If the first possibility occurs, then we define a function  $\phi : \mathbb{R} \to S$  by  $\phi(x) = f\left(\frac{x-1}{c}\right)$  for  $x \in \mathbb{R}$ . Note that in view of (1) and (7), we have

$$\phi(x) \circ \phi(y) = f\left(\frac{x-1}{c}\right) \circ f\left(\frac{y-1}{c}\right) = f\left(\frac{x-1}{c} + g\left(\frac{x-1}{c}\right)\frac{y-1}{c}\right) =$$
$$= f\left(\frac{x-1}{c} + \left(c\frac{x-1}{c} + 1\right)\frac{y-1}{c}\right) = f\left(\frac{xy-1}{c}\right)$$
$$= \phi(xy) \quad \text{for } x, y \in \mathbb{R}.$$

As f is non-constant, this means that  $\phi$  is a non-trivial homomorphism of a multiplicative semigroup of real numbers into S. Furthermore,  $f(x) = \phi(cx + 1)$  for  $x \in \mathbb{R}$ , so (iv) holds.

Now, assume that g is of the form (8). Let  $\psi : [0, \infty) \to S$  be given by  $\psi(x) = f\left(\frac{x-1}{c}\right)$  for  $x \in [0, \infty)$ . Then, arguing analogously as in the previous case, we get that  $\psi$  is a non-trivial homomorphism of a multiplicative semigroup of non-negative real numbers into S and

$$f(x) = \psi(cx+1) \quad \text{for } x \in D_c^+.$$
(13)

Moreover, since  $-\frac{2}{c} - x \in D_c^+$  for  $x \in D_c^-$ , then taking into account (1), (8) and (13), we get

$$f(x) = f\left(-\frac{2}{c} - x + g\left(-\frac{2}{c} - x\right)\left(-\frac{2}{c}\right)\right) =$$
  
=  $f\left(-\frac{2}{c} - x\right) \circ f\left(-\frac{2}{c}\right) = \psi(-(cx+1)) \circ f\left(-\frac{2}{c}\right) \quad \text{for } x \in D_c^-.$ 

Furthermore, making sequentially use of (13), (1) and (8), for every  $x \in D_c^+$ , we obtain

$$f\left(-\frac{2}{c}\right)\circ\psi(cx+1)=f\left(-\frac{2}{c}\right)\circ f(x)=f\left(-\frac{2}{c}+g\left(-\frac{2}{c}\right)x\right)=f\left(-\frac{2}{c}\right).$$

Hence  $f(-\frac{2}{c}) \in Z_L(\psi([0,\infty)))$ . Consequently (v) is valid with  $l := f(-\frac{2}{c})$ . Since the converse is easy to check, the proof is completed.

**Corollary 1.** Assume that  $(S, \circ)$  is a comutative semigroup,  $g : \mathbb{R} \to \mathbb{R}$  is continuous and  $f : \mathbb{R} \to S$ . Then (f, g) is a solution of (1) if and only if either one of the conditions (i), (iii) and (iv) of Theorem 1 holds; or

(v') there exist a homomorphism  $\psi$  of a multiplicative semigroup of non-negative real numbers into S,  $c \in \mathbb{R} \setminus \{0\}$  and  $l \in Z(\psi([0, \infty)))$  such that

$$g(x) = \max\{cx+1, 0\} \quad \text{for } x \in \mathbb{R},$$
$$f(x) = \begin{cases} \psi(cx+1) & \text{for } x \in D_c^+ \\ l & \text{for } x \in D_c^-. \end{cases}$$

*Proof.* Since S is commutative, every subsemigroup  $S_0$  of S such that  $u \circ v = u$  for  $u, v \in S_0$ , has a form  $S_0 = \{s\}$  with some  $s \in E(S)$ . Furthermore, for every  $\emptyset \neq A \subset S$ ,  $Z_L(A) = Z(A)$ . Therefore, applying Theorem 1, we get the assertion.  $\Box$ 

**Corollary 2.** Assume that  $(S, \circ)$  is a group,  $g : \mathbb{R} \to \mathbb{R}$  is continuous and  $f : \mathbb{R} \to S$ . Then (f, g) is a solution of (1) if and only if either  $f \equiv e$ , where e is a neutral element of the group  $(S, \circ)$ ; or  $g \equiv 1$  and f is a homomorphism of an additive group of real numbers into S.

**Proof.** Assume that (f, g) is a solution of (1). Then, according to Theorem 1, one of the conditions (i)–(v) is valid. Since S is a group, we have  $E(S) = \{e\}$ . Moreover, the only subsemigroup  $S_0$  of S such that  $u \circ v = u$  for  $u, v \in S_0$ , is  $S_0 = \{e\}$ . Thus each of the conditions (i) and (ii) implies that  $f \equiv e$ . Furthermore, as every homomorphism of a multiplicative semigroup of reals (non-negative reals, resp.) into a group is trivial, neither (iv) nor (v) occur. So the proof is completed.

The next proposition generalizes some results from [8] and [10].

**Proposition 1.** Assume that  $\circ$  is an associative binary operation on  $\mathbb{R}$  and k is a positive integer. Then  $f : \mathbb{R} \to \mathbb{R}$  is a non-constant continuous solution of the equation

$$f(x + f(x)^{k}y) = f(x) \circ f(y) \quad \text{for } x, y \in \mathbb{R}$$
(14)

if and only if one of the following three conditions holds:

(a) k is even,  $u \circ v = uv$  for  $u, v \in [0, \infty)$  and there exists  $c \in \mathbb{R} \setminus \{0\}$  such that

$$f(x) = (\max\{cx+1, 0\})^{\frac{1}{k}} \text{ for } x \in \mathbb{R};$$
(15)

(b) k is odd,  $u \circ v = uv$  for  $u, v \in \mathbb{R}$  and there exists  $c \in \mathbb{R} \setminus \{0\}$  such that f has a form (15) or

$$f(x) = (cx+1)^{\frac{1}{k}} \quad for \ x \in \mathbb{R};$$
(16)

(c) k is even,  $u \circ v = -uv$  for  $u, v \in (-\infty, 0]$  and there exists  $c \in \mathbb{R} \setminus \{0\}$  such that

$$f(x) = -(\max\{cx+1, 0\})^{\frac{1}{k}} \quad \text{for } x \in \mathbb{R}.$$
 (17)

*Proof.* It is easy to check that each of conditions (a)–(c) implies (14). So, assume that f is a non-constant continuous solution of (14). Then (f, g), where  $g = (f)^k$ , is a solution of (1). Hence, according to Lemma 2, there exists  $c \in \mathbb{R} \setminus \{0\}$  such that either  $f(x)^k = cx + 1$  for  $x \in \mathbb{R}$ ; or  $f(x)^k = \max\{cx + 1, 0\}$  for  $x \in \mathbb{R}$ . Assume that the first possibility holds. Then k is odd and f has the form (16). Moreover, for every  $u, v \in \mathbb{R}$  there exist  $x_1, x_2 \in \mathbb{R}$  such that  $u = f(x_1) = (cx_1 + 1)^{\frac{1}{k}}$  and  $v = f(x_2) = (cx_2 + 1)^{\frac{1}{k}}$ . Thus, by (14), we get

$$u \circ v = f(x_1) \circ f(x_2) = f(x_1 + f(x_1)^k x_2) = f(x_1 + x_2 + cx_1 x_2)$$
  
=  $(cx_1 + 1)^{\frac{1}{k}} (cx_2 + 1)^{\frac{1}{k}} = uv.$ 

If the second possibility is valid, then either f has the form (15), or k is even and f is of the form (17). Furthermore, arguing as previously, we obtain that  $u \circ v = uv$  for  $u, v \in [0, \infty)$  in the first case, and  $u \circ v = -uv$  for  $u, v \in (-\infty, 0]$  in the second one. This completes the proof.

## References

- J. ACZÉL and J. DHOMBRES, Functional equations in several variables. Encyclopedia of Mathematics and its Applications v. 31, Cambridge University Press, 1989.
- [2] J. ACZÉL and S. GOŁĄB, Remarks on one-parameter subsemigroups of the affine group and their homo- and isomorphisms. *Aequationes Math.* 4 (1970), 1–10.
- [3] J. ACZEL and J. SCHWAIGER, Continuous solutions of the Golab-Schinzel equation on the nonnegative reals and on related domains. *Österr. Akad. Wiss. Math.-Natur. Kl. Sitzungsber. II* 208 (1999), 171–177.
- [4] E. AICHINGER and M. FARAG, On when the multiplicative center of a near-ring is a subnear-ring. Aequationes Math. 48 (2004), 46–59.
- [5] K. BARON, On the continuous solutions of the Golab-Schinzel equation. Aequationes Math. 38 (1989), 155-162.
- [6] W. BENZ, The cardinality of the set of discontinuous solutions of a class of functional equations. Aequationes Math. 32 (1987), 58–62.

- [7] \_\_\_\_\_, Functional equations which are exorbitant. Arch. Math. (Basel) 58 (1992), 301-306.
- [8] N. BRILLOUËT-BELLUOT, On some functional equations of Gołab-Schinzel type. Aequationes Math. 42 (1991), 239–270.
- [9] N. BRILLOUËT and J. DHOMBRES, Équations fonctionnelles et recherche de sousgroupes. Aequationes Math. 31 (1986), 253-293.
- [10] J. BRZDĘK, Subgroups of the group  $Z_n$  and a generalization of the Gołąb–Schinzel functional equation. Aequationes Math. 43 (1992), 59–71.
- [11] \_\_\_\_\_, Some remarks on solutions of the functional equation  $f(x + f(y)^n y) = tf(x)f(y)$ . Publ. Math. Debrecen 43 (1993), 147–160.
- [12] \_\_\_\_\_, Bounded solutions of the Gołąb-Schinzel functional equation. Aequationes Math. 59 (2000), 248-254.
- [13] \_\_\_\_\_, On continuous solutions of a conditional Gołąb-Schinzel equation. Anz. Österreich. Akad. Wiss. Math.-Natur. Kl. 138 (2001), 3-6.
- [14] \_\_\_\_\_, On the continuous solutions of a generalization of the Gołąb–Schinzel equation. *Publ. Math. Debrecen* **63** (2003), 421–429.
- [15] \_\_\_\_\_, Gołąb-Schinzel equation and its generalizations. Aequationes Math. 70 (2005), 14-24.
- [16] J. BRZDĘK and A. MUREŃKO, On solutions of a conditional generalization of the Gołąb-Schinzel equation. Arch. Math. (Basel) 85 (2005), 503-511.
- [17] J. CHUDZIAK, Continuous solutions of a generalization of the Gołąb-Schinzel equation. Aequationes Math. 61 (2001), 63-78.
- [18] S. GOŁĄB and A. SCHINZEL, Sur l'équation fonctionnelle f(x + yf(x)) = f(x)f(y). Publ. Math. Debrecen 6 (1959), 113–125.
- [19] D. ILSE, I. LEHMANN, and W. SCHULZ, Gruppoide und Funktionalgleichungen. VEB Deutscher Verlag der Wissenschaften, Berlin, 1984.
- [20] H. LÜNEBURG and P. PLAUMANN, Die Functionalgleichung von Gołąb und Schinzel in Galoisfeldern. Arch. Math. (Basel) 28 (1977), 55–59.
- [21] A. MUREŃKO, On continuous solutions of a conditional generalization of the Gołąb-Schinzel equation. Publ. Math. Debrecen 63 (2003), 693-702.
- [22] P. PLAUMANN and S. STRAMBACH, Zweidimensionale Quasialgebren mit Nullteilern. Aequationes Math. 15 (1977), 249–264.
- [23] C. G. POPA, Sur l'équation fonctionnelle f(x+yf(x)) = f(x)f(y). Ann. Polon. Math. 17 (1965), 193–198.
- [24] L. REICH, Über die stetigen Lösungen der Gołąb-Schinzel-Gleichung auf ℝ und auf ℝ<sub>>0</sub>. Österr. Akad. Wiss. Math.-Natur. Kl. Sitzungsber. II. 208 (1999), 165–170.
- [25] \_\_\_\_\_, Über die stetigen Lösungen der Gołab-Schinzel-Gleichung auf ℝ<sub>≥0</sub>. Anz. Österreich. Akad. Wiss. Math.-Natur. Kl. 138 (2001), 7-12.
- [26] M. SABLIK, A conditional Gołąb-Schinzel equation, Anz. Österreich. Akad. Wiss. Math.-Natur. Kl. 137 (2000), 11-15.

Received: 30 October 2005

## Communicated by: A. Kreuzer

Author's address: Jacek Chudziak, Department of Mathematics, University of Rzeszów, Rejtana 16 A, 35-310 Rzeszów, Poland.

E-mail: chudziak@univ.rzeszow.pl